
[bookmark: _GoBack]EVENT 44 – BOYS High Jump 
3 failures in a row, if 2 competitors fail on same height position given on ‘count back’ – 
total number of failures in competition ie John 6 failures, Tom 7 - so John placed 1st.                                     After this number of failures from the previous height will split the athletes
	SCHOOL
	 A - Name
	
	Best
	
	Position
	
	Pts

	Example
	John (SSQ)
	
	1.30
	
	1st 
	
	24

	
	Tom (StC)
	
	1.30
	
	2nd 
	
	23

	
	
	
	
	
	

	TES
	Richard
	
	1.20
	
	15th 
	
	10

	
	Matthew
	
	1.33
	
	6th 
	
	19

	
	
	
	
	
	
	
	

	BISAD
	Louis
	
	1.41
	
	2nd 
	
	23

	
	Alexis
	
	1.41
	
	1st 
	
	24

	
	
	
	
	
	
	
	

	DBGS
	Abdul
	
	1.30
	
	8th =
	
	16.5

	
	Marwan
	
	1.10
	
	21st 
	
	4

	
	
	
	
	
	
	
	

	BSM
	Alex
	
	1.20
	
	14th 
	
	11

	
	Craig
	
	1.20
	
	16th 
	
	9

	
	
	
	
	
	
	
	

	KSAB
	Lucas
	
	1.30
	
	8=
	
	16.5

	
	Oliver
	
	1.25
	
	12th 
	
	13

	
	
	
	
	
	
	
	

	BSK
	Luke
	
	1.15
	
	20th 
	
	5

	
	Luai
	
	1.00
	
	24th 
	
	1

	
	
	
	
	
	
	
	

	BISC
	Ramez
	
	1.25
	
	13th 
	
	12

	
	Malek
	
	1.30
	
	10th 
	
	15

	
	
	
	
	
	
	
	

	BSAK
	Max
	
	1.32
	
	7th 
	
	18

	
	Harry
	
	1.20
	
	17th 
	
	8

	
	
	
	
	
	
	
	

	StC
	Nasser
	
	1.34
	
	4th 
	
	21

	
	Lucas
	
	1.15
	
	18th=
	
	6.5

	
	
	
	
	
	
	
	

	KES
	Efe
	
	1.10
	
	22nd 
	
	3

	
	Mohammed
	
	1.15
	
	18=
	
	6.5

	
	
	
	
	
	
	
	

	BCAD
	Alex
	
	1.37
	
	3rd 
	
	22

	
	Adam
	
	1.33
	
	5th 
	
	20

	
	
	
	
	
	
	
	

	BISR
	Ivan
	
	1.10
	
	23rd 
	
	2

	
	Jasper
	
	1.25
	
	11th 
	
	14




